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RZ: Please edit the provided L

Y

X �le instead next time.

Solution

Let p be the property of `su

essorship' over N, given by p(x) = x + 1, i.e.
p = {(x, x+ 1)|x ∈ N}

Now property 1, whi
h is ∀x ∈ N, ∃y ∈ N.p(x, y), is trivially satis�ed, sin
e

by de�nition of p, for all x ∈ N, exists y = x+ 1 su
h that p(x, y) holds.
Now property 2, whi
h is 6 ∃y ∈ N.∀x ∈ N.p(x, y) is satis�ed. By 
ontradition

if property 2 is not satis�ed then there exists y ∈ N, su
h that for all x ∈ N,

p(x, y) holds. This implies that if x
′ = x+1, p(x, y) and p(x′

, y), whi
h implies

that y = x+ 1 = x+ 1 + 1, whi
h is a 
ontradition


